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A\

tanB
Df"

Y2

Df

23.00 kN/m3
18.0 kN/m3

10.00 kN/m2

20.000 kN/m3

45.0 <
0.000 kN/m2
0.700
0.000 m

18.000 kN/m3

0.000 kN/m2
0.000 m



t/m2

RS> 77




(m) (m) (m) Ye¢ (kN) (m) (m) | MxCkN m) | My(kN m)
0.350 * 1.600 * 1.000 * 23 12.880 0.175 0.800 2.254 10.304
0.000* 1.600/ 2 * 1.000 * 23 0.000 0.000 0.533 0.000 0.000
0.800* 1.600/ 2 * 1.000 * 23 14.720 0.617 0.533 9.082 7.846

27.600 11.336 18.150
Nev = 27.600 kN
( X== > = 0.411m
( y =X > = 0.658 m
)

(m) (m) (m) YycC s1(kN) (m) (m) Mx(kN m) | My(kN m)
0.800* 0.000/ 2 * 1.000 * 18.00 0.000 0.883 1.600 0.000 0.000
0.800* 1.600/ 2 * 1.000 * 18.00 11.520 0.883 1.067 10.172 12.292

11.520 10.172 12.292
Nsl = 11.520 kN
( ) X== > = 0.883 m
( ) y =X > = 1.067 m




q*Wg™*L

0.750 m

Wg

0.800 m
1.000 m
10.000 kN/m2

8.000 kN
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P o = 30.0<
) al = 0.557
q = 10.000 kN/m2
= 1.600 m
= 1.000 m

q*Kal *H *cos(d +0O ) *L

q*Kal *H *sOn(d + 6 ) * L

0.750 m
0.800 m

< X
11 11

30.0
0.0
26.6

10.0

7.155 kN

5.314 kN
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H1

pl = ys * Kal * HL * L

Phl = 1/2 *{ pl1 * H1 * cos(D1+O) }
= 10.303 kN

Pvl = 1/2 *{ pl * H1 * sOn(51+O) }
= 7.652 kN

>
11

0.883 m
0.533 m

=<
1]

18.000 kN/m3
1.600 m

16.042 kN/m



(kN) X(m) X(KN m)
27.600 0.411 11.344
11.520 0.883 10.172
8.000 0.750 6.000
5.314 0.750 3.986
7.652 0.883 6.757
60.086 38.259
m
(kN) Y(m) Y(KN m)
7.155 0.800 5.724
10.303 0.533 5.491
17.458 11.215




X= ( X- Y)/
0.450 m

B/2-X
0.125m

B/6
B/ 6

0.192 m
-0.192 m

SF={C*A+ *TAN (B ) }/
= 2.409
TAN(pB ) = 0.700

FA = 1.500

= ( /B*L)*(1+6* /B)
= 86.324 kN/m2

2= ( /B*L)*(1-6* /B)
= 18.173 kN/m2

QA = 300.00 kN/m2



W=Ae*(ax*K*C*Nc+K*q*Ng+1/2*y1* B *Be*Nr)

(QA)
QA=QU / a
Qu
C
(kN/m2)
q=vYy2*Df
AV
Y2 .
Ae (m2)
Be
Be =B -2 *eB
B (m)
eB m
Df : (m)
o,B :
o = 1.0
B = 1.0
K ;
K=1+0.3*Df"/ Be
DF* : (m)
NC,NQ,NG :
a
tan© :
tan® = B/
B
Be = 0.9 m
Ae = 0.9 m2
k = 1.000
tan® = 0.291
Ng = 60.0
Nr = 55.0
Nc = 60.0
Qu = 4455 kN
Qa = 148.5 kN

(kN)

(m

(kN)
(kN)

0.000 kN/m2

0.000 kN/m2
20.0 kN/m2
18.0 kN/m2

0.000 m

0.000 m

60.1 kN



(m

(m) (kN/m2) | (kN)
0.125| 2.409|  86.3 60.1
0.192 1.50] 300.0]  148.5




	重力式擁壁の検討計算
	使用説明書
	入力データ
	計算書
	目次
	１．設計条件
	２．形状寸法図
	３．荷重の組合せ
	４．荷重の計算
	５．安定の検討
	６．支持地盤の許容鉛直力
	７．安定計算総括表


